fié‘ fliﬁg\ m}_?{q % 12 1'7':7"%3?:"
FA\ B e
- CBARRIEY R FRF R v TR
= \M£i$ﬁﬁ}ég;§m/§4;ﬁk§_ﬁ§%ﬁﬂi%%l
SN PHEH >
- #ﬁéﬁ-ﬁ LR RN RTAT FFRT R oo
IO~ A PEH O ATHR PR RIER T v e
= kpRE AT B BRI
Bz i 3-6 F PR R A o
Logth A3 FRY L RE AL R R -
PE o PRES B Y A 2 Fie
- ‘?%EF—% ;\‘ :Eg—[‘,ji— :,K‘ ’J‘B?*‘: 4 F; d\‘:‘ Au;"e'))'l"'
B P ERRERTY T RETIR

Frih D R IR T

114 # B Fr;mﬂ BAIg-RIEL 1 pF | FAeR T HER

=~ ;%:ﬁi%\ %a'm] :

l\)"‘

NN

Wit

7 ofeend gEIm g o
AR 4

cE s g A Y R
YIRS AR fEE LY TR oo

P R AR 2 AL IALP B
9 :50-10 : 00 g R

10 < 00-10 - 05 TR A

FaHT s 4

(RERE €t N

FF = A B4 5o- e

: 50 ,
Ak L 1T

10 1 05~11 AT

FIERL o

2. BIMd ¢

()3 BER iR >

(DFFF b pAgF L > 7
FEEAG -
(5) i’_éjz Sl ﬁi"é‘b 3 Lbﬁq <

B e

(DFEHB*FF B84 1 FEM
P~ AT @ F > W -

(2)7 g 3 B > & Grgb s IR 2 e M % o
AL EPRER?

b'% r——-%

A RRAH
& iy} g”ﬁﬂﬂ?’ﬁ?}f@fﬁjfr

1B o B4

2R A

Ao drip i

4 o




[fERESEA]

AL TR

DR %5 /P'J

S fRBIE S

FERFSEw
A

11 :50~12 00

W

i

CRPEF R RS AR
N o N L

~ AV I\‘Jf]"&‘/‘éﬁﬁi?”%ﬂ_ﬁ‘l]} » fg‘%?\'g‘
FRR RS AR PR ok

I=q

B

P EF S A

d YAt et g R A o B R URP RE -
REFH FRERLPY > W E LR

i% ﬁjﬂ’?—\ ?r

rﬁ)

% =x 7 P Hi | Hi 43 #ar
1 = RIR o I 600 600[1. % 4tk % 7 5 4 & 13 2%
2 | HEERg | & | ] 700 00l EF R T Ry RE

. SR AKSRER -
3 F?}iaﬁ’ A 30 20 6002.”—3:%"&@? %EEFE,'&’_%

4 N # | 10 100 1,000 7 %8 & i o
D f L o1 100 1003 A4 3 BRI F 5%

Oha 3,000 ~ & (1 +2)
3 78,000 = £ (26 %)

w%im:

1. i ‘ﬁ’f;;fir? WREET 14 0E% 238 S i:;}ﬁ%&kﬁ\fﬁg,ﬁ/\e‘
%ﬁﬁﬁ’@iiiﬁaéﬁﬁyéﬁﬁﬁﬁamﬁg%ﬁ,ﬁﬁ@5§£
12+ 50 F AT B T F e AT

2.0 AP AP AP LA E L kAR AR R T T 2
A MG A 5 M RIE A 5]

PEHFIN AT AT RENILER




